

Journal of Recent Research and Applied Studies

(Multidisciplinary Open Access Refereed e-Journal)

# Effect of Aerobic Training on Health Related Physical Fitness Variables among College Students

# Dr.S. Rajamony

Vice Principal, Mother Teresa College of Physical Education, Illupur, Pudukottai, Tamilnadu, India.

International

#### Received 24th March 2018, Accepted 15th April 2018

#### Abstract

The purpose of the present study was to find out the effect of aerobic training on selected health related physical Fitness variables among College Students. To achieve the purpose of the study thirty College men students in an age group of 18 to 24 were selected as subjects. All the students were in the residential College staying in the hostel. The selected subjects were divided in to two equal groups of fifteen subjects each as experimental and control group. Both the group underwent their routine physical activities. In addition of the physical activities the experimental group underwent specified aerobic training morning one hour before starting the own routine physical activities in a schedule of weekly three days in alternative days for all the eight weeks. The collected data's were statistically analyzed by using ANCOVA to find out the significant difference between the groups if any. It was concluded from the result of the study that the experimental group significantly improved in the health related physical fitness variables of cardiovascular endurance, muscular strength, muscular endurance, flexibility, and body composition.

**Keywords:** Aerobic training, physical fitness, cardiovascular endurance, muscular strength, muscular endurance, flexibility, and body composition.

© Copy Right, IJRRAS, 2018. All Rights Reserved.

#### Introduction

Aerobic exercise is physical exercise of low to high intensity that depends primarily on the aerobic energy-generating process. Aerobic literally means "relating to, involving, or requiring free oxygen", and refers to the use of oxygen to adequately meet energy demands during exercise via aerobic metabolism. Aerobic exercise (also known as cardio) is physical exercise of low to high intensity that depends primarily on the aerobic energy-generating process (Sharon A. Plowman; Denise L. Smith, 2007). Aerobic literally means "relating to, involving, or requiring free oxygen" (Kenneth H. Cooper, 1997). It refers to the use of oxygen to adequately meet energy demands during exercise via aerobic metabolism. Achieving an "aerobic effect" can be defined as participating in a physical activity that elevates your heart rate to your target heart rate and maintains that level for a minimum of 20 consecutive minutes.

There are many numerous studies were conducted in related to the effect of aerobic training on physical fitness variables and all the studies were given positive result for the improvement of physical fitness variables. Mathewos Hosiso et al. (2013) found that Moderate aerobic exercise has positive effect on improvement of health related physical fitness

**Correspondence** Dr.S.Rajamony E-mail: suthakar.ku@gmail.com components of sedentary female communities. Santosh Toppo& Sultana (2013) found the aerobic training beneficial for improving physical fitness of School boys. Rohit Bhairvanath Adling and Dattaram Bhagwan Bangar (2017) found aerobic training improved muscular endurance, cardio-respiratory endurance of College men students. Seol-Jung Kang et al. (2016) found that the aerobic training beneficial for improving the physical fitness quality of female patients. It was found from the studies that regular aerobic exercise will produce beneficial effects for any age group providing the exercise is specific and appropriate to the level of fitness of the individual. Progressive exercise correctly performed will increase the level of fitness and improve health.

#### Methodology

To achieve the purpose of the study thirty college men students in an age group of 18 to 24 were selected as subjects. All the students were in the arts and Science College residing in the college hostel. The selected subjects were divided in to two equal groups of fifteen subjects each as experimental group and control group. Both the group underwent their routine physical fitness program. In addition of the above training the experimental group underwent specified aerobic training program morning one hour before starting their own routine physical activities in a schedule of weekly three days in alternative days for all the eight weeks.

#### **Aerobic Training Procedure**

The eight weeks aerobic training was designed

in emphasizes the necessity of the needs of fitness development of college men students with the age group of 18 to 24 years.For achieving an aerobic effect the following types of aerobic in nature of physical activities are performed during the aerobic training period. They are Brisk walking, Jogging, Running and Jumping rope continuously to improve the aerobic effect. The above aerobic training was performed weekly three days with one hour in alternative days for the duration eight weeks.

# **Methods of Data Collection**

The pre and post tests were administered before and after the eight weeks aerobic training period. The test administered were 12 minutes run and walk for assessing cardiovascular endurance, pushups for muscular strength, sit ups for muscular endurance, Sit and reach for flexibility and body mass index (BMI) for body composition. All the tests were administered through standardized testing procedure.

# **Statistical Procedure**

The collected data were statistically examined by analysis of covariance (ANCOVA) and the results have been presented in Table I to V.

#### **Results and Discussions**

# Analysis of Covariance of Health Related Physical Fitness Variables

The analysis of covariance on the data obtained for health related physical fitness variables of cardiovascular endurance, muscular strength, muscular endurance, flexibility, and body composition of pre and post tests were tabulated and presented in the tables I, to V respectively.

Table 1

Computation of analysis of covariance on cardiovascular endurance (12 Minutes run and walk test- scores in meters)

TEST	Group		SV	Sum of	df	Mean	F value
	Exp.	Control		Squares		Square	
Pre test	1972	1920	В	20280	1	20280	
			W	552890	28	19746	1.02
Post test	2092	1957	В	135340	1	135340	
			W	513233	28	18329	7.38*
Adjusted		1000	В	56342	1	56342	
Mean	2068	1980	W	78987	27	2925	19.25*

\*Significant at 0.05 level of confidence

It was observed from the Table-1 that there was no significant difference in the pretest (F=1.02<4.20). A significant difference in the post test (F=7.38<4.20) for df 1 and 28 and adjusted posttest (F=19.25 > 4.21) for df 1 and 27 at 0.05 level of confidence. It clearly indicated that there was an influence on cardiovascular endurance through aerobic training among College students. The pre and post mean value indicated that the experimental group improved better result in comparison with control group. The discussion clearly indicated that the experimental group was higher improvement on cardiovascular endurance due to eight weeks aerobic training.

#### Table 2

Computation of analysis of covariance on muscular strength (Push up Test- Scores in Number)

TEST	Group		SV	Sum of	df	Mean	F ratio
	Exp.	Con.		Squares		Square	
Pre test			В	8.833	1	8.833	
	19.66	19.33	W	100.66	28	3.59	0.23
Post test			В	116.03	1	116.03	
	23.4	19.46	W	151.33	28	5.40	21.46*
Adjusted			В	96.93	1	96.93	
Mean	23.23	19.62	W	56.57	27	2.09	46.25*

\*Significant at 0.05 level of confidence

It was observed from the Table-2 that there was no significant difference in the pretest (F=0.23 < 4.20) for

df 1 and 28 at 0.05 level of confidence. But significant difference were observed in posttest (F=21.46<4.20) for

df 1 and 28 at 0.05 level of confidence and also adjusted posttest (F=46.25 > 4.21) for df 1 and 27 at 0.05 level of confidence. It clearly indicated that the experimental group showed significantly higher improvement on Muscular strength than control group.The pre and post mean value indicated that the experimental group improved better result in comparison with control group. The discussion clearly indicated that the experimental group was higher improvement on Muscular strength due to eight weeks aerobic training.

# Table 3

Computation of analysis of covariance on muscular endurance (Sit up Test- Scores in Numbers)

TEST	Group		SV	Sum of	df	Mean	F ratio
	Exp.	Control		Squares		Square	
Pre test	17.6	16.8	В	4.8	1	4.8	1.03
	17.0	10.8	W	130	28	4.64	1.05
Post test	19.53	17.33	В	36.3	1	36.3	5.55*
	19.55		W	183.06	28	6.538	5.55
Adjusted	19.27	17.53	В	20.45	1	20.45	4.29*
Mean	17.27	17.55	W	128.53	27	4.76	7.27

\*Significant at 0.05 level of confidence

It was observed from the Table-3 that there was no significant difference in the pretest (F=1.03 < 4.20) and however significant difference were observed in the post test (F=5.55 > 4.20) for df 1 and 28 at 0.05 level of confidence and also adjusted posttest (F=4.29 > 4.21) for df 1 and 27 at 0.05 level of confidence. It clearly indicated that the experimental group showed significantly higher improvement on muscular endurance than control group. The pre and post mean value indicated that the experimental group improved better result in comparison with control group. The discussion clearly indicated that the eight weeks aerobic training influence the muscular endurance

## Table 4

Computation of analysis of covariance on flexibility (Sit and Reach Test- Scores in Centimeter)

TEST	Group		SV	Sum of	df	Mean	F value
	Exp.	Con.		Squares		Square	
Pre test			В	22.533	1	22.533	
	17.4	19.13	W	455.333	28	16.26	1.38
Post test			В	16.133	1	16.133	
	21.66	20.2	W	64.266	28	2.296	7.02
Adjusted			В	65.268	1	65.268	
Mean	22.44	19.42	W	430.93	27	15.96	4.08

\*Significant at 0.05 level of confidence

It was observed from the Table-4 that there were no significant difference in the pretest (F=0.1.38<4.20).There was a significant difference in posttest (F=7.02<4.20) for df 1 and 28 at 0.05 level of confidence. There was no significant difference in adjusted posttest (F=4.08 > 4.21) for df 1 and 27 at 0.05 level of confidence. However the F value of posttest analysis clearly indicated that the experimental group showed significantly higher improvement on flexibility. The pre and post mean value indicated that the experimental group improved better result in comparison with control group. The discussion clearly indicated that the experimental group was higher improvement on flexibility due to eight weeks aerobic training.

## Table 5

Computation of analysis of covariance on body composition (Body Mass Index Test- Scores in numbers)

TEST	Group		sv	Sum of	df	Mean	F value
	Exp.	Con.		Squares		Square	
Pre test	28.91	30.14	В	11.408	1	11.408	
	28.91		W	6188.86	28	221.03	0.05
Post test	25.11	29.44	В	140.40	1	140.40	
			W	520.07	28	18.574	7.55*
Adjusted Mean	25.09	29.46	В	143.55	1	143.55	
			W				
				528.04	27	19.55	7.34*

\*Significant at 0.05 level of confidence

It was observed from the Table-5 that there were no significant difference in the pretest (F=0.05 < 4.20). There were a significant differences in posttest (F=7.55 < 4.20) for df 1 and 28 at 0.05 level of confidenceand adjusted posttest (F=7.34 < 4.21) for df 1 and 27 at 0.05 level of confidence. It clearly indicated that there will be a significant impact on body mass index due to aerobic training among college students. The pre and post mean value indicated that the experimental group decreased the BMI in comparison with control group. The discussion clearly indicated that there was a significant difference in body mass index due to eight weeks aerobic training.

# Conclusions

On the basis of the results and discussions it was concluded that Aerobic training was proved a best training method to improve the health related physical fitness qualities of cardiovascular endurance, muscular strength, muscular endurance, flexibility and body composition of college men students.

# References

- 1. Cooper, Kenneth H. (1983). Aerobics (revised, reissue Ed.). Bantam Books.
- 2. Cooper, Kenneth H. (1997). Can stress heal?. Thomas Nelson Inc. p. 40.
- 3. Mathewos Hosiso1, Sangeeta Rani &ShemelisRekoninne (2013). Effects of Aerobic Exercise on Improving Health Related Physical Fitness Components of Dilla University Sedentary Female Community, International Journal of Scientific and Research Publications, Volume 3, Issue 12,
- 4. RohitBhairvanathAdling&DattaramBhagwanBa ngar (2017). Effect of eight weeks aerobic exercises on physical and physiological variables among college men, International Journal of Physiology, Nutrition and Physical Education, 2(1), 103-106
- 5. SantoshToppo&Sultana,D.(2013). Effect of Aerobic Training on Selected Physical and Physiological variables on Normal and Overweight School Boys International Journal

of Health, Physical Education and Computer Science in Sports, 12 (1), 48-51.

- Dr S Suthakar, Dr Sundar Raj Urs DP Shivakumar, 2016, Effect of Selected Yogic Exercises on Cardiovascular Endurance and Lung Capacity of Secondary School Children, IJESC, 6, 6 PP. 7286-7289.
- Dr S Suthakar, Dr Sundar Raj Urs DP Shivakumar, 2016, Effect of selected yogic exercises on selected physiological variable of secondary school children., International Journal of Physical Education, Sports and Health, 4-114.
- S.Suthakar and Dr.A.Pushparajan, Effects of Silambam and Karate with Yogic Training on Agility and Arm Explosive Power of Collegiate Male Students., International Journal of Innovative Research and Development|| ISSN 2278–0211
- 9. R.Ashok kumar Dr.S.Suthakar, K.M.Ashokkumar, 2016. An Effective Approach through Strength, Endurance and Skill Training Program Combinations on Muscular Strength and Endurance and Explosive Power of Male Basketball Players., International Journal of Innovative Research and Development., 5,4,218-220.
- R. Ashok Kumar K. Babu , S. Suthakar, 2016. Effects of Volleyball Specific Resistance Training and Skill Training Packages on the Development of Leg Explosive Power and Speed on the Higher Secondary Level School Boys,2016/3, international journal of innovative research and development, 5, 4,231-235.
- 11. Dr.S.Suthakar Venkata chalapathi G, 2016. Analysis of physical growth on specific fitness training among tribal and non-tribal school boys, 2016/10/27, International Journal of Physical Education, Sports and Health3,6, 137-142.
- 12. Satheesh B. and Dr.S. Suthakar. 2016. A Study on the selected motor fitness variables among the bicycle benificiaries and non benificiaries of

the secondary school children, 2016/10, Indian Streams Research Journal6,9,1-4.

- M Sankar, S Suthakar, 2016. Influence Of Isolated And Combined Circuit And Fartlek Trainings On Selected Endurance Parameters Among College Men Students, 2016/9/15, International Education and Research Journal, 2,9.
- 14. Satheesh B and Dr.S. Suthakar, 2016. Comparative study of the psychological wellbeing and self-confidence between the bicycle beneficiaries and non beneficiaries of the secondary school children,2016/8/27, International Journal of Physical Education, Sports and Health, 3,5, 495-497.
- 15. Dr.S.Suthakar M. Sankar, 2016. Influence of the Isolated and Combined Circuit and Fartlek Trainings on the Selected Strength Parameters among the College Men Students, 2016/8, International Journal of Recent Research and Applied Studies, 3, 8(16), 70-74.
- 16. Dr. S. Suthakar, Nayak Darshana Habbu, 2016. Effects of the Combination of Plyometric and Specific Training with Skill Training in the Development of Anaerobic Capacity, Leg Explosive Power and Over All Playing Ability of the Volleyball Players, 2016/8, International Journal of Recent Research and Applied Studies, 3, 8(19), 83-87.
- 17. Dr. S. Suthakar Muniraju M. G, 2016.Effects of the Short Term Resistance and Regular Resistance Training in the Development of Lower Body Strength, Leg Explosive Power and Shooting Ability on the Male Basketball Players, International Journal of Recent Research and Applied Studies, 3, 8,(12), 51-54.
- Dr.S.Suthakar Muniraju, M. G, 2016.Effects of the Short Term Resistance and Regular Resistance Training in the Development of Muscular Strength Endurance, Upper Body Strength and Passing Ability of the Male Basketball Players, 2016/8, International Journal of Recent Research and Applied Studies, 3,8,(13),55-59.
- 19. Dr.S.Suthakar Nayak Darshana Habbu, 2016. Effect of Combination of Plyometric and Skill Training in the Development of Speed, Muscular Strength Endurance and Serving Ability among the Volleyball Players,2016/8, International Journal of Recent Research and Applied Studies, 3,8,(7),25-29.
- 20. Dr. S. Suthakar Adengada A. Kushalappa, 2016.Correlations of Biomechanical Characteristics with Ball Speed in Penalty Corner Push-In Effect of Basketball Specific Training on Skill Performance Variables among the Inter-collegiate Men Basketball Players of Mangalore University, 2016/7/10, International

Journal of Recent Research and Applied Studies, 3, 7(12), 60-63.

- 21. Dr. S. Suthakar Adengada A. Kushalappa, Effect of Basketball Specific Training on Selected Physical Fitness Variables among the Inter Collegiate Men Basketball Players of Mangalore University, 2016/7, International Journal of Recent Research and Applied Studies, 3, 7 (14), 60-63.
- 22. Dr. S Suthakar and Dr. Sundar Raj Urs DP Shivakumar, 2016. Effect of selected yogic exercises on selected physiological variable of secondary school children, 2016/6/23,International Journal of Physical Education, Sports and Health, 3, 4, 114-116.
- DP Shivakumar, S Suthakar, Sundar Raj Urs, 2016. Effect of Selected Yogic Exercises on Cardiovascular Endurance and Lung Capacity of Secondary School Children, 2016/6, International Journal of Engineering Science, 7286.
- 24. Dr.Sundar Raj Urs Kishor V, Dr. S Suthakar, 2016. Analysis of physical fitness and adjustment between physical education and general education teachers, 2016/6, international journal of multidisciplinary educational research, 5, 6(3), 88-91.

Please cite this article as: Dr.S. Rajamony (2018). Effect of Aerobic Training on Health Related Physical Fitness Variables among College Students. International Journal of Recent Research and Applied Studies, 5, 4(12), 53-57.